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Internet Device
177.10.1.3

CMTS
lo 0 -10.0.1.1/30 e

192.168.1.1

Cahle Modem

NAT Router {acting like a bridge)

10.0.0.2 - Pri E0
192.168.1.2 - Sec

— —J —=

Host 1 Host 2 Host 3
10.0.0.11/24 10.0.0.12/24 10.0.0.13/24

FOXRYRND=O RATISLRBT—TI EFLADOREICE TR LK —MWEENDTT, Cable
Modem Termination System ( CMTS; 7 —7 L EFLKBHZ AT L) kI —2TH'V), Cable
Modem (CM; 7 —7 ) EFL )R TV YD ERKRICHETIERETT, CCTHREICEDOR
AVE—ZRYRNIT IO RCATEIREOHDKRARKCTDRE>LBWAET RL AN Internet
Service Provider (ISP; 1 &2 —%Y N H—ERXA Z7ONAMZF— ) A S5EZS5NTVWEVWZLETT
o ISPASEETRLA19216812F5A5NTVWELEN, ChFEEALELTHEATIHE
AHYVELE, SSICERNFHDE, 192.168.2.1 ~ 192.168.2.3M3D2NFT RL AN ZEE .,
NAT(X10.0.0.0 24 DEEDKANZEHBLET,
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PRELOEELFEFHICODV TRV 2ATRLTVET,



NAT L—Z OERE

NAT JL—& DETE

i nterface LoopbackO

ip address 10.0.1.1 255. 255. 255. 252

ip nat outside

!--- Creates a virtual interface called Loopback 0 and
assigns an !--- IP address of 10.0.1.1 to it. Defines
interface Loopback 0 as !--- NAT outside. ! | interface
Et hernetO i p address 192.168. 1.2 255. 255. 255. 0 secondary
i p address 10.0.0.2 255.255.255.0 ip Nat inside /---
Assigns a primary IP address of 10.0.0.2 and a secondary

IP !--- address of 192.168.1.2 to Ethernet 0. Defines
interface Ethernet 0 !--- as NAT inside. The 192.168.1.2
address will be used to communicate !--- through the CM

to the CMTS and the Internet. The 10.0.0.2 address !---
will be used to communicate with the local hosts. ip
policy route-nmap Nat-loop !--- Assigns route-map "Nat-
loop" to Ethernet 0 for policy routing. ! ip Nat pool
external 192.168.2.2 192.168.2.3 prefix-length 29 ip Nat
i nside source list 10 pool external overload ip Nat

i nside source static 10.0.0.12 192.168.2.1 !--- NAT is
defined: packets that match access-list 10 will be !---
translated to an address fromthe pool called
"external". !--- A static NAT translation is defined for
10.0.0.12 to be !--- translated to 192.168.2.1 (this is
for host 2 which needs !--- to be accessed fromthe
Internet).

ip classless
!
!
iproute 0.0.0.0 0.0.0.0 192.168.1.1
ip route 192.168.2.0 255.255.255.0 EthernetO

l--- Static default route set as 192.168.1.1, also a

static !--- route for network 192.168.2.0/24 directly
attached to !--- Ethernet 0! ! access-list 10 pernit
10.0.0.0 0.0.0.255 !--- Access-list 10 defined for use

by NAT statenment above

access-list 102 permt ip any 192.168.2.0 0.0.0. 255
access-list 102 permit ip 10.0.0.0 0.0.0.255 any

/--- Access-list 102 defined and used by route-map "Nat-
| oop" !--- which is used for policy routing.

!
Access-list 177 permit icnp any any
!--- Access-list 177 used for debug.

]
route-map Nat-loop pernmit 10

match i p address 102

set ip next-hop 10.0.1.2

!--- Creates route-map "Nat-loop" used for policy

routing. !--- Route map states that any packets that
match access-1list 102 will !--- have the next hop set to
10.0.1.2 and be routed "out" the !--- loopback

interface. All other packets will be routed normally. !-
-- We use 10.0.1.2 because this next-hop is seen as




located !--- on the loopback interface which would
result in policy routing to !--- loopbackO.
Alternatively, we could have used "set interface !---
loopback0" which would have done the same thing. ! end
NAT-rout er #

¥ IXTORARNDTF7AIRNT—RITIAIFE, NATIL—RTH310.0.02ICkEchTVE
To RVUNT 74V ONEEETDIZIE, ISP & CMTS IZIE, NAT L—2%Z3ELRT
192.168.2.0/29 \DIL— KNI BETT, chid, RARNATFASORS T4 v IR0 TxRY
RASEETEIELDIICREADEDTT, COHITIEE, CMTS & 19216812 DKRZT1 v I %
192.168.2.0/29 (NAT L— R TREET N TVBREHAVIPTRLA) CIL—F12FLET,

% 1 show B &V debug OAX> ROH B

COETIE, RENEEICHIELTVWAAES A ZERITHIRICRIIDBEBREZHENLTVET,

LORENBETDEERIETDEHIC, NAT L—3 D debug H O DERA(C ping test & L
<ONBIFLELE. ping IX RARIIL, debug HOIC K2 TEABREAITOATVDD
AN EREICRENDENDAYET,

X :debug XV REFBATDEIC, Tdebug ANV ROEBERER, 2SBL T EEV,

TAB1

BIIDTARNTRE, SRTEBELEAVEZ—ZXY NLEOTFNA AN SKARN2ZpingZEELTLET
o IVB—FXY NEDOTFTINA A, IP7 RLA192.168.21% AL THRAR2EBETEIHE

FHYVET, RiCdebugDH B ZRLUET. NAT L—FTEITL TV debug AN RiF, E&
E kD access-list 177 & 9 % debug ip packet 177 detail, debugip Nat, X TFRIZ— )L
—TATENEINT Y NERTRT S debug ip policy T¥,

NAT JL—AX TE1TL /= show ip Nat translation Y>> ROH I ERICRLET,

NAT-rout er# show ip Nat translation

Pro I nside gl obal I nsi de | ocal Qut si de | ocal Qut si de gl oba
- 192.168.2.1 10.0.0. 12 --- ---
NAT-r out er #

AVR—ZY NEQOEB (ZOBESEIL—F ) NS 192.168.2.1 ICKHL T ping ERITFLET, =
hERDESICRILET,

I nternet-devi ce# ping 192.168.2.1

Type escape sequence to abort.

Sendi ng 5, 100-byte |ICMP Echos to 192.168.2.1, tineout is 2 seconds:
Success rate is 100 percent (5/5), round-trip min/avg/ max = 92/92/92 s
| nt ernet - devi ce#

XD debug HAEOXY RERREL T, NAT L— R TEABREBHFTODATVWSOHL ZEREL
TLEEW,

I P: s=177.10.1.3 (Ethernet0), d=192.168.2.1, len 100, policy match
| CVP type=8, code=0
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IP: route map Nat-loop, item 10, permt
IP: s=177.10.1.3 (Ethernet0), d=192.168.2.1 (LoopbackQ), Len 100, policy routed
| CWP type=8, code=0

!--- The above debug output shows the packet with source 177.10.1.3 destined !--- to
192.168.2.1. The packet matches the statements in the "Nat-loop" !--- policy route map and is
pernmitted and policy-routed. The Internet !--- Control Message Protocol (ICWP) type 8, code O
indicates that this !--- packet is an | CMP echo request packet.

I P: EthernetO to LoopbackO 10.0.1.2
IP: s=177.10.1.3 (Ethernet0), d=192.168.2.1 (Loopback0), g=10.0.1.2, Len 100,
f orwar d
| CWP type=8, code=0

!--- The packet now is routed to the new next hop address of 10.0.1.2 !--- as shown above. |P:
NAT enab = 1 trans = 0 flags = 0 NAT: s=177.10.1.3, d=192.168.2.1->10.0.0.12 [52] IP:
s=177.10. 1. 3 (Loopback0O), d=10.0.0.12 (Ethernet0), g=10.0.0.12, Len 100, forward | CWP type=8,
code=0 I P: NAT enab = 1 trans = 0 flags = 0 !--- Now that the routing decision has been made,
NAT takes place. We can !--- see above that the address 192.168.2.1 is translated to 10.0.0.12
and !--- this packet is forwarded out Ethernet 0 to the local host. !--- Note: \When a packet is
going frominside to outside, it is routed and !--- then translated (NAT). In the opposite
direction (outside to inside), !--- NAT takes place first.

I P: s=10.0.0.12 (EthernetQ), d=177.10.1.3, Len 100, policy match

| CWP type=0, code=0
IP: route map Nat-loop, item 10, permt
I P: s=10.0.0.12 (EthernetQ), d=177.10.1.3 (Loopback0), Len 100, policy routed

| CWP type=0, code=0
I P: EthernetO to LoopbackO 10.0.1.2
!-—-- Host 2 now sends an ICMP echo response, seen as ICMP type 0, code 0. !--- This packet also
matches the policy routing statements and is !--- permitted for policy routing. NAT:
s=10.0.0.12->192.168. 2.1, d=177.10.1.3 [52] IP: s=192.168.2.1 (Ethernet0), d=177.10.1.3
(Loopback0O), g=10.0.1.2, Len 100, forward |ICWP type=0, code=0 |P: s=192.168.2.1 (Loopback0),
d=177.10.1.3 (Ethernet0), ¢g=192.168.1.1, Len 100, forward | CW type=0, code=0 |IP: NAT enab =1

trans = 0 flags = 0 /--- The above output shows the Host 2 IP address is translated to !---
192.168.2.1 and the packet that results packet is sent out loopback 0, !--- because of the
policy based routing, and finally forwarded !--- out Ethernet 0 to the Internet device. !--- The
remainder of the debug output shown is a repeat of the previous !--- for each of the additional
four | CWP packet exchanges (by default, !'--- five |ICMP packets are sent when pinging from G sco
routers). We have !--- onitted npst of the output since it is redundant.

IP: s=177.10.1.3 (Ethernet0), d=192.168.2.1, Len 100, policy match
| CWP type=8, code=0
IP: route map Nat-loop, item 10, permt
IP: s=177.10.1.3 (Ethernet0), d=192.168.2.1 (LoopbackQ), Len 100, policy routed
| CWP type=8, code=0
I P: EthernetO to LoopbackO 10.0.1.2
IP: s=177.10.1.3 (Ethernet0), d=192.168.2.1 (Loopback0), g=10.0.1.2, Len 100,
f orwar d
| CWP type=8, code=0
I P: NAT enab = 1 trans = 0 flags = 0
NAT: s=177.10.1.3, d=192.168.2.1->10.0.0.12 [53]
I P: s=177.10.1.3 (Loopback0), d=10.0.0.12 (Ethernet0), g=10.0.0.12, Len 100,
f orwar d
| CWP type=8, code=0
I P: NAT enab = 1 trans = 0 flags = 0
I P: s=10.0.0.12 (EthernetQ), d=177.10.1.3, Len 100, policy match
| CWP type=0, code=0
IP: route map Nat-loop, item 10, permt
I P: s=10.0.0.12 (Ethernet0), d=177.10.1.3 (Loopback0), Len 100, policy routed
| CWP type=0, code=0
I P: EthernetO to LoopbackO 10.0.1.2
NAT: s=10.0.0.12->192.168.2.1, d=177.10.1.3 [53]
I P: s=192.168.2.1 (Ethernet0), d=177.10.1.3 (LoopbackO), g=10.0.1.2, Len 100,



f orwar d
| CWP type=0, code=0
I P: s=192.168. 2.1 (Loopback0), d=177.10.1.3 (Ethernet0), g=192.168.1.1, Len 100,
f orwar d
| CWP type=0, code=0
I P: NAT enab = 1 trans = 0 flags = 0

TAD2

E51D20EHELT, BRAMAVEZ—RYNEBRETEDLDIITDZENHBWET, C
NDTARNTR., RAMDASL U E—FY hTNA AIZpingZRTLET, BRELTESND
show V> R&debugd Y RERXDEH VY T,

VERETIE, NATIL—Z2 DO NATZE#ET—TIILRROELSIZBEL2>TVWET,

NAT-rout er# show ip Nat translation

Pro I nside gl obal I nsi de | ocal Qut si de | ocal Cut si de gl obal
- 192.168.2.1 10.0.0. 12
NAT-r out er #

RAN1HS ping ZRITTDE, ROBRIFBSIhET,

Host - 1# ping 177.10.1.3

Type escape sequence to abort.
Sending 5, 100-byte |ICMP Echos to 177.10.1.3, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/ max = 92/92/96 ms
Host - 1#

LOHRNS ping FRBLIZCEADAYET, NATIL—RDO NAT T—7LIEROKS 2%V
£

NAT-r out er# show ip Nat translation

Pro I nside gl obal I nsi de | ocal Qut si de | ocal Cut si de gl obal
icnp 192.168. 2. 2: 434 10.0.0. 11: 434 177.10.1.3:434 177.10. 1. 3: 434
icnp 192.168. 2. 2: 435 10. 0. 0. 11: 435 177.10. 1. 3:435 177.10. 1. 3: 435
icnp 192.168. 2. 2: 436 10. 0. 0. 11: 436 177.10. 1. 3: 436 177.10. 1. 3: 436
icnp 192.168. 2. 2: 437 10. 0. 0. 11: 437 177.10. 1. 3: 437 177.10. 1. 3: 437
icnp 192.168. 2. 2: 438 10. 0. 0. 11: 438 177.10. 1. 3: 438 177.10. 1. 3: 438
- 192.168.2.1 10.0.0. 12 --- ---
NAT-rout er #

EONAT ZEBRT—T N RITEBINORNSVAL—23 0 (RAEZTAYIRBRNAT I 7 4%
L—>3a>TREL)AAMFIVIBNAT A 74F1L -3 0OERTT,

XD debug Ok, NAT L—BTEDRS BABFTOLATVIDOHLEZRLTVET,

IP: NAT enab = 1 trans = 0 flags = 0

I P: s=10.0.0.11 (EthernetQ), d=177.10.1.3, Len 100, policy match
| CVP type=8, code=0

IP: route map Nat-loop, item 10, permt



I P: s=10.0.0.11 (EthernetQ), d=177.10.1.3 (Loopback0), Len 100, policy routed

| CWP type=8, code=0
I P: EthernetO to LoopbackO 10.0.1.2
! --- The above output shows the ICMP echo request packet originated by !--- Host 1 which is
policy-routed out the loopback interface. NAT: s=10.0.0.11->192.168.2.2, d=177.10.1.3 [8] IP
s=192.168.2.2 (EthernetQ), d=177.10.1.3 (Loopback0), g¢=10.0.1.2, Len 100, forward | CVP type=8,
code=0 | P: s=192.168.2.2 (LoopbackO), d=177.10.1.3 (Ethernet0), g=192.168.1.1, Len 100, forward
| CVMP type=8, code=0 IP: NAT enab = 1 trans = 0 flags = 0 !--- After the routing decision has
been made by the policy routing, !--- translation takes place, which translates the Host 1 IP
address of 10.0.0.11 !--- to an address from the "external" pool 192.168.2.2 as shown above. !--
- The packet is then forwarded out loopback 0 and finally out Ethernet 0 !--- to the Internet
device. | P: s=177.10.1.3 (Ethernet0), d=192.168.2.2, Len 100, policy match | CW type=0, code=0
IP: route map Nat-loop, item 10, pernmit |IP: s=177.10.1.3 (Ethernet0), d=192.168.2.2 (Loopback0),
Len 100, policy routed | CWP type=0, code=0 |IP: EthernetO to LoopbackO 10.0.1.2 IP: s=177.10.1.3
(Ethernet0), d=192.168.2.2 (Loopback0), g=10.0.1.2, Len 100, forward |ICW type=0, code=0 !---
The Internet device sends an ICMP echo response which matches our !--- policy, 1s policy-routed,
and forward out the Loopback 0 interface. |P: NAT enab = 1 trans = 0 flags = 0 NAT:
s=177.10.1.3, d=192.168.2.2->10.0.0.11 [8] IP: s=177.10.1.3 (Loopback0), d=10.0.0.11
(Et hernet0), g=10.0.0.11, Len 100, forward |ICVWP type=0, code=0 !--- The packet is looped back
into the loopback interface at which point !--- the destination portion of the address 1is
translated from 192.168.2.2 !--- to 10.0.0.11 and forwarded out the Ethernet 0 interface to the
local host. !--- The ICMP exchange 1is repeated for the rest of the ICMP packets, some of !---
which are shown below. |P: NAT enab = 1 trans = 0 flags = 0 I P: s=10.0.0. 11 (Ethernet0),
d=177.10.1.3, Len 100, policy match | CWP type=8, code=0 IP: route map Nat-loop, item 10, permt
I P: s=10.0.0.11 (EthernetQ), d=177.10.1.3 (Loopback0), Len 100, policy routed | CVWP type=8,
code=0 I P: EthernetO to LoopbackO 10.0.1.2 NAT: s=10.0.0.11->192.168.2.2, d=177.10.1.3 [9] IPF:
s=192.168.2.2 (EthernetQ), d=177.10.1.3 (Loopback0), g=10.0.1.2, Len 100, forward | CVP type=8,
code=0 | P: s=192.168.2.2 (LoopbackO), d=177.10.1.3 (Ethernet0), g=192.168.1.1, Len 100, forward
| CVP type=8, code=0 IP: NAT enab = 1 trans = 0 flags = 0 IP: s=177.10.1.3 (EthernetO0),
d=192.168. 2.2, Len 100, policy match | CVWP type=0, code=0 IP: route nap Nat-loop, item 10, permit
IP: s=177.10.1.3 (Ethernet0), d=192.168.2.2 (LoopbackO), Len 100, policy routed | CVW type=0,
code=0 | P: EthernetO to LoopbackO 10.0.1.2 |IP: s=177.10.1. 3 (Ethernet0), d=192.168.2.2
(Loopback0O), g=10.0.1.2, Len 100, forward |ICVMP type=0, code=0 IP: NAT enab = 1 trans = 0 flags =
0 NAT: s=177.10.1.3, d=192.168.2.2->10.0.0.11 [9] IP: s=177.10.1.3 (LoopbackO), d=10.0.0.11
(Et hernet0), g=10.0.0.11, Len 100, forward | CWP type=0, code=0

Bl2 XY ND—D AT ITSLERE
XY RNDO—OK
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EH

CCTR, BEMFEBRI2MAOYABN (RIBRTRI)DNY VI, BASHOREN VE
ICBNET, 2HPOHYA NTRERARBEDIP 7PRLAZFEALTVD LS, EVWCEETDEE
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OJO—NIL T RLAZEAL TEEETOSBENf D&,
CCNSOIRARNBORNTS 74 v IO RT R2REATIEEEE DL,
- COBITRE, ROBREICTRIRDIC TAZT A4V T, I8 NAT BEMAMEICBEYET,
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ip address 4.4.4.2 255.255.255.0

ip Nat inside

!--- Creates a virtual interface called "loopback 0" and
assigns IP address !--- 4.4.4.2 to it. Also defines for
it a NAT inside interface. ! Interface Ethernet0/0 ip
address 1.1.1.2 255.255.255.0 no ip redirects ip Nat
outside ip policy route-map Nat !--- Assigns IP address
1.1.1.1/24 to e0/0. Disables redirects so that packets
!--- which arrive from R1 destined toward R3 are not

redirected to R3 and !--- visa-versa. Defines the
interface as NAT outside interface. Assigns !--- route-
map "Nat" used for policy-based routing. ! ip Nat inside
source static 10.10.10.1 200.200.200.1 !--- Creates a
static translation so packets received on the inside
interface !--- with a source address of 10.10.10.1 will
have their source address !--- translated to
200.200.200.1. Note: This inplies that the packets
received !--- on the outside interface with a
destinati on address of 200.200.200.1 !--- will have the

destination translated to 10.10.10. 1.

ip Nat outside source static 20.20.20.1 100.100.100.1
!--- Creates a static translation so packets received on
the outside interface !--- with a source address of
20.20.20.1 will have their source address !---
translated to 100.100.100.1. Note: This inplies that
packets received on !--- the inside interface with a
destinati on address of 100.100.100.1 will !--- have the
destination translated to 20.20.20. 1.

ip route 10.10.10.0 255.255.255.0 1
ip route 20.20.20.0 255.255.255.0 3
ip route 100.100.100.0 255.255.255.0 1.1.1.3
|
access-list 101 permt ip host 10.10.10.1 host
100. 100. 100. 1

route-map Nat permt 10

match i p address 101

set ip next-hop 4.4.4.2

1.1.1.
1.1.1.

%l 2 show B &V debug AT ROH B

X RBEODshow AN R, PORNTYNAR—=T )R (BEI—YER)Y—ITHR—I
TENTVET, COVY—IIEZFEATDE, showdNX ROBHESPHTEE T, debug IV R
ZFERAITHEIC, "debug AN ROEBELSIEFEHRL 2SRBLTLSEEL,

TAB1

EDOBRELCRULELRDIC, 2DDARERTAYINAT RZVAL—23208HY), ChsER2T

1< > KR show ip Nat translation Z#fH L THETEE T,

NAT JL—A& T=41TL /= show ip Nat translation Y>> ROH D ERICRLET,

NAT-rout er# show ip Nat translation



Pro I nside gl obal I nsi de | ocal Qut si de | ocal Cut si de gl obal
--- - --- 100. 100. 100. 1 20.20.20.1
--- 200. 200. 200.1 10.10.10.1 --- ---

R2#

ZOFANTI., RIOEHIZH5T/51 Z(10.10.10.1)A 5. RIDEHIZHDF/N1 R
(100.100.100.1) D~ A—/N L7 KL AFET l-pingZ#EE L= L =, R2Tdebug ip Nat& debug ip
packetZR{TId &, XOHIFBSIET,

I P: NAT enab = 1 trans = 0 flags = 0
I P: s=10.10.10.1 (Ethernet0/0), d=100.100.100.1, Len 100, policy match

| CVP type=8, code=0
IP: route map Nat, item 10, permt
I P: s=10.10.10.1 (Ethernet0/0), d=100.100.100.1 (LoopbackO), Len 100, policy
rout ed

| CVP type=8, code=0
I P: Ethernet0/0 to LoopbackO 4.4.4.2
I-—— The above output shows the packet source from 10.10.10.1 destined !--- for 100.100.100.1
arrives on E0/0, which is defined as a NAT !--- outside interface. There is not any NAT that
needs to take place at !--- this point, however the router also has policy routing enabled for
!-—— E0/0. The output shows that the packet matches the policy that is !--- defined in the
policy routing statements. |P: s$=10.10.10.1 (Ethernet0/0), d=100.100.100.1 (LoopbackO0),
g=4.4.4.2, Len 100, forward |ICVP type=8, code=0 IP: NAT enab = 1 trans = 0 flags = 0 /--- The
above now shows the packet is policy-routed out the loopback(O !--- interface. Remember the
Joopback is defined as a NAT inside interface. NAT: s=10.10. 10. 1->200. 200. 200. 1, d=100.100.100.1
[26] NAT: s=200.200.200.1, d=100.100.100.1->20.20.20.1 [26] !--- For the above output, the
packet is now arriving on the loopback(Q !--- interface. Since this is a NAT inside interface, it
is important to !--- note that before the translation shown above takes place, the router !---
will look for a route in the routing table to the destination, which !--- before the translation
is still 100.100.100.1. Once this route look up !--- is complete, the router will continue with
translation, as shown above. !--- The route lookup is not shown in the debug out put.

I P: s=200. 200. 200. 1 (LoopbackQ), d=20.20.20.1 (Ethernet0/0), g=1.1.1.3, Len 100,
f orwar d
| CVP type=8, code=0
I P: NAT enab = 1 trans = 0 flags = 0
I-—— The above output shows the resulting translated packet that results is !--- forwarded out
E0/0.

ROBHE, W—F3ONYVICHZEEZRERLEL, - 1ONYIICHDREZEEL
T3, WBENTY NOHERTT,

NAT: s=20.20. 20. 1->100. 100. 100. 1, d=200. 200. 200. 1 [ 26]
NAT: s=100. 100. 100. 1, d=200.200. 200. 1->10. 10. 10.1 [ 26]

!-—- The return packet arrives into the e0/0 interface which is a NAT !--- outside interface.
In this direction (outside to inside), translation !--- occurs before routing. The above output
shows the translation takes place. |P: s=100.100.100.1 (Ethernet0/0), d=10.10.10.1
(Ethernet0/0), Len 100, policy rejected -- normal forwarding | CVWP type=0, code=0 |IP:
s=100. 100. 100.1 (Ethernet0/0), d=10.10.10.1 (Ethernet0/0), g=1.1.1.1, Len 100, forward |ICW
type=0, code=0 !--- The E0/0 interface still has policy routing enabled, so the packet is !---
check against the policy, as shown above. The packet does not match the !--- policy and is
forwarded normally.
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